Tutorial Set 8

(Part A)

i> Determine the Kinete energy y

of the thin, homogeneous square

¢ .
Pla{'e oF mass M’  and side (a2

welded +to o wvertical shaft AB with

which it forms a 45° anale-

2y The S5-kg vTod BC is ahached by pins to two uniform
dicks os shown. The masz of the 150 mm vodiue disk is
6 kg and that of the FSmm rodius is I'5 kg Knouoing_
that the system {3 weleased from rest in the position
shown, determine the ve\ocfha of the rod affer disk A has

yvotated l'hrouah 30°. Acssome that diske voll without sl%P

150 mm _* S

75 mm




Paxt B

1> Determine Kinetic enermy OG the disk

Mass = 3.92 ‘k}
w, = |6 vod/s
w, = 3 TQA/S

Ans: T= 2A1°32 Nm

9‘> The 4-kg rod AB is attached to a collar of negligible mass at A and

to a flywheel at B. The flywheel has a mass of 16 kg and a radius

of gyration of 180 mm. Knowing that in the position shown the

angular velocity of the flywheel is 60 rpm clockwise, determine the
angular velocity of the flywheel when point B is directly below C.

Ane: W = 84.% rpm D




